Energia
forze conservative

B
y,z -ASSI=f77(x y,z)dsg=L(4,B)
4

F dipende solo dal punto !
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Energia
forze conservative

Supponi:
L. (A,B)=L_(A,B)
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F(x,y,z)ds=0  [F(x,y,z)-d5=L(4,B)=L(0,B)~L(0, 4)
A
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Energia
forze conservative e potenziale

[ F(x,y,2)-d5=L(4,B)=L(0,B)-L(0, 4)

fF (x,y,z)-d5=®(P,)-®(P)
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A P,
P

"""""""" > potenziale U(P)=—®(P)
B
fﬁ'di’:L(A,B)=U(A)—U(B)=%mv§ ; my.,
A
E=U(A)-|—%mvi=U(B)-l—%mv§ Costante del moto
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Energia
forze conservative e potenziale
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Energia
potenziale e forza

FA3=F As+F As +F A5 =L(P,P+45)=U(P)-U(P+43)

FZA2=U(XP’yP:ZP)_U(xP’yP’ZP+AZ)

'«,,,,I””,‘
_ 7 Ulxp, yp,zp)=Ulxp,yp,2ptAz) _ 09U
Fz_llmAz—%O = A

Az 0z
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Energia
potenziale e forza

. U, U, U, &
Fds= <8xdsx+ 0 ds,+ P ds,)=—V U-ds

con
~ 0 0 0 oU oU oU
Us(—,—,—)U = e

v <8x 0y 62) <8x 0y 82)
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Energia
forze conservative

f m§-d§=—f mad=0-mg=L(0z)=U(0)-U|z)
o o

dacui
Ulz)=mgz ilpoteziale
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5mv=EO=mgh dacui v=v2gh
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